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QUESTION 1

Current trends in the midsize segment can be grouped into four areas: IT (Information Technology), collaboration and
engagement, workforce, and cloud communications. In the area of cloud communications, which characteristic is
associated with midsize businesses? 

A. They decrease solution complexity by reducing features. 

B. They will gain greater flexibility. 

C. They can shift to cloud storage for data and Information. 

D. They Improve and extend the mobile infrastructure. 

Correct Answer: B 

 

QUESTION 2

Refer to the Scenario: HandH Ticket. 
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You are designing a solution for HandH Ticket. The customer has been using a hosted conferencing solution with a
maximum of 100 moderators. They need to know answers to multiple questions to estimate costs or setup the
host/moderator. In the system. You have told them that the Avaya model is simpler. Which three facts do you need to
know to help determine a cost estimate for a comparable premise- based solution? (Choose three.) 

A. No additional Information Is needed 
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B. The number of conferences per month 

C. Whether they need web collaboration 

D. Whether they will need recording 

E. The number of participant-. 

Correct Answer: ABD 

 

QUESTION 3

A customer wants the helpful tool that Is available to create marketing surveys In Avaya Contact Center 

Select (ACCS). 

Which component Is used to create surveys In ACCS? 

A. Outbound Campaign Management Tool 

B. Proactive Outreach Manager 

C. Communication Control Toolkit 

D. Orchestration Designer 

Correct Answer: A 

 

QUESTION 4

Refer to the exhibit. 
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You have just finished your discovery conversation with a multi-location, midsize customer. What would you do to use
the generic functional UCandC architecture shown in the exhibit? 

A. Create a version of this diagram for each location. 

B. Add the specific product names for components in your solution. 

C. Cross out functionality not requested by the customer. 

D. Add In quantities for each of the components in your solution. 

Correct Answer: C 

 

QUESTION 5

A customer has an existing Business Communications Manager (BCM) with Avaya 1220 and 1230 IP Deskphones. The
Account Manager wants to reuse the sets and minimize the cost of the quote. Which statement about reusing existing
sets from a BCM on an IP OfficeTM is true? 

A. The features supported on BCM are the same as the IP Office. 

B. The existing sets will operate the same on the IP Office. 

C. IP Office supports ail BCM sets. 

D. There will be some operational or feature differences. 
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Correct Answer: A 
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